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A. Choose th9 correct alswer and put a fick (/) mark
against the brackets provided : 1x 15=15

- |,ir.,,.,,r ir'
1. What is societSr's primary ec[ngmic problem?

{aJ Unemplo5rment (.}

[D,/ rnequaxry 1[ ].. ..

{c,l Poverty , (t)

/d,f Scarcity ( I

c



l,

4. The law of demand
PersPectivd lbf

(4,) consumer (

fb,f shopkeePer

(c.f wholesaler (

(d.l manufachrrer

Ba/ECl Ml/352

2.

l2l

oEconomics is thE sgiapcA which studips humar
behaviour as a relationship between ends and
scarce means." Thiri"wa{ given bY

. ,a l
/a) Adam Smith ( ' )'

(b) Lioner Ropbj+;, , -(,0 )

(cJ Aured Marshall ( )

(d,f Jevons ( )

The demard curve is'aliiays"' "' "i
(a) revel ( )

{b, irregular ( )

{c,) upward sloPing ( )

{d,) downward sloPing ( )

is measured from the

3.
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(,)

6. Which of the foUowing is true about consumer
behaviour?

. (a,) . Consumer behaviour is tJ:e study of
microeconomics (

fb,f Consumer behaviour
' macroedonomics 1r (

l,

is t}le
)

study of

(c) Consumer behaviour is tl1e studv of
income a.nalysiq ' ,( )

(dJ None of lhe abov€

Ba/EC1 M1/352
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7. \ryho gave the cardinal cbncept'bt trtility?
1.t"t ibbrr:

/a,l Marshal ( )-.'' Itt' l':d"

' fb, Pigou ( ) ,i,, ia.(.)

fc) Hicks ( .)

(d) Samuelson ( ).,

8. of the following is a characteristic of

psychological

subjective

Ba/EC1

(c)

(d)
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9.

tE,

10. Money cost is also known as.

fa,, accounting cost ( .)' :r'

/b,) business accotnt I ( )

c6,,,+ i.
(c,,1 explicit cost ( )

. (d) All of the above . ,, ( )

,11. Fixed cost is incurred on

()

fa) variable factors (

{b,f fixed factors ( }

. fcl Both (a) atd, (b) (

aslrtI

fd, None of the above

A/to1 Mri/sr2
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t2.

t6l

Revenue is directly influenced.by , i,,,,

(Q pice of the good

{b,f demand of t}re good

(c.f sales level (

/d,) supply level (

,1. .

'1r r

rl

)

13.. Under perfect competition, a business has to
make dilTerent types of decisions, both for ttre
short and long run. Which of the following is
a short-run decision?

(a,f Whether to enter or exit an
industry ( )

(b) 'th.e price to charge buyers for
a Product ( )

fc, Spending on advertising and sales
' Promotion -( )

(d) The level of output that can maximize
profit ( )

PalECll''1l362
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14. If mary sellers are selling an identical product,
what is the implication of this scenario?

(a,l Significant losses for all the
sellers ( )

(b) Tli'e market suPply curye is
horizontal ( )

(c/ Chaos in t]le market ( )

(dJ The sellers do not have the powcr to
change the price of a product ( )

15. In perfect competition, how the prices of goods
and services are decided?

(4,) Demand and supply face s decide the
prices of goods and services ( )

(b) Tlne seller decides the prices of
goods ( )

/c/ Government influences t}re prices of
goods ( )

(d,/ Buyers control the Price level
hw inflrrencing demand for the
product ( )

BalEcr M1/352



B. eshafitts{6fif*Ie'{in1bd1rE Wb$iidtrits: :'::r 
t u 2xs=10

lw.rat i9 an economic. Problem? l
I t* '' 'ro1 ' /iie .rot r s6fiftari'

';"* 
'-' ( I rrillc''
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ll n" fSun" in the nargin irdi@te fu| tuarks
for the questirr1's

t.
UNn_I

(a,l Defne economics and
scope of economics.

Or

e><plain the
l+9=lO

2+8=1O

( Tun Over )

(b) Wt,E:t is sn eclnorlic aystem? Explail
the dilferent bDes of economic system.
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